BABY SUN HAT

Finished size
2/3 years old child-50 cm circumference.

Materials
Yarn : 2 balls of cotton (120m/50g).
Crochet hook size 3 mm.

Crochet stitches
Slip stitch (d st).
Chain (ch).

Single crochet (sc).

Gauge
17 stiches and 21 rows sc= 10cmX10cm.

I nstructions
Starting at center top.
Ch4 andjoinwith d stinfirst sc.

Round 1 : chl, work 6sc in ring. = 6sc in
total.

Rnd2 : 2sc in each stitch around. = 12scin
total.

Rnd3 : *1sc- 2scin the next*. Repeat 6
times. = 18sc in total.

Rnd4 : *2sc- 2sc in the next* . Repeat 6
times. = 24scin total.

Rnd5 : *3sc- 2sc in the next*. Repeat 6
times. = 30sc in total.

Rnd6 : *4sc- 2sc in the next*. Repeat 6
times. = 36sc in total.

Rnd7 : *5sc- 2sc in the next* . Repeat 6
times. = 42scin total.

Rnd8 : *6sc- 2sc in the next*. Repeat 6
times. = 48sc in total.

Rnd9 : * 7sc- 2sc in the next* . Repeat 6
times. = 54scin total .

R10 : *8sc- 2sc in the next* . Repeat 6
times. = 60sc in total.

Rnd11 : *9sc- 2sc in the next*. Repeat 6
times. = 66sc in total.

Rnd12 : *10sc- 2sc in the next*. Repeat 6
times. = 72sc in total.

R13: *11sc- 2sc in the next*. Repeat 6
times. = 78sc in total.

Rnd14 : *12sc- 2sc in the next* . Repeat 6
times. = 84scin total.

Rnd15 : *13sc- 2sc in the next* . Repeat 6
times. = 90sc in total.

Rnd16 to Rnd31 : scin each stitch.

Rnd32 : * 14sc- 2sc in the next*. Repeat 6
times. = 96sc in total.

R33 : 7sc- 2scin the next.

*15sc- 2sc in the next*, repeat 5 times.
8sc. =102Scin total.

Rnd34 : scin each st.

R35 : *16sc- 2sc in the next* . Repeat 6
times. = 108sc in total.

Rnd36 : 9sc- 2sc in the next.
*17sc- 2sc in the next*, repeat 5 times.
8sc. = 114scintotal.

Rnd37 : scin each st.
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Rnd38 : *18sc- 2sc in the next*. Repeat 6
times. = 120sc in total.

RnNd39 : 9sc- 2sc in the next.

*19sc- 2sc in the next*, repeat 5 times.
10sc. = 126sc in total.

Fasten off.

| hope you will have fun crocheting your
baby hat !
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